
Center #L -  Evaluate the expression.

1 )  3 x 6 - L 2 + 6  2 )  2 0 x ( 3 3 - + 7 + z o

3 )  5 + ( 4 2 + 2 ) + 6 4 )  1 2  +  4  ( 7 6 +  4 ) 2

Center #2 -  List  the factors for each number.

1 )  28

2) 44

3 )  6 3

Center #3 - Write the prime factorization of the number.

1)  42 2) 4s0 3) 1680



Center #4 -  Find the lowest common mult iple.
1) 4 and 14 2l  I8and27

Center #5 -  Find the greatest common factor.
1 )  30  and 48  2)  56  and 96

Center #6 -  Solve, When possible, wri te the answer in simplest form,

t )  272+16 zr !+1' 9  
8

3 )  3 :  -27
615



Center #L - Evaluate the expression.
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Center #2 - List the factors for each number.
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Center #3 - Write the prime factorization of the number.
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Center #5 - Find the greatest common factor.
1) 30 and 48 2l
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Center #4 - Find the lowest common mult iple.
1)  4andL4

t l  272+16

2't 18 and 27
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Center #6 - Solve. When possible, write the answer in simplest form.
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